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Part II 3-Tier

:AUDITING AND ELEMENTS OF COSTING

PAPER—XII

(Elective General)

| Full Marks : 100
Time : 3 Hours

| -
. The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
i own words as far as practicable.

: " Hiustrate the answers wherever necessary.

|
‘ - Group—A

I
[Auditing ] -
(Marks—45)

2x3

1. Answer any two questions :

(a) What are the main objectives of Audit?

- (b) What do you mean by errors and fraud ?

. {Turmn Over)



(c) What is an Audit Note Book ?

(d) What do you mean by Valuation of assets ?

2. Answer any three questions : 3x8
{a} Mention the advantages of audit,

(b) Distinguish between a statutory and a non-statutory
audit.

(c) What do you mean by test checking ? When are test
checks applicable ? What precautions are to be taken
when applying test checks ? 2+3+3

(d} What do you mean by Internal Control ? Distinguish
between Internal Check and Internal Control.

(e} What do you understand by vouching? Pomt out the
objectives of vouching. 3+5

(f) Mention the advantages and limitations of social

audit. .
3. Answer any one question : 1x15
{a) How do you varify the following : "5x3

{i) Trade Debtors;
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| .
| (ii} Plant and Machinery;
|

(iii) Bills Payable.

(lqﬁ Prepare the audit Programme of any one of the
' following : '

i} A School;

ii) A Club

.Groul;—B ]
‘ { Elements of Costing]
(Marks—45)

4. Answer any two questions : 2x3

|
(a} What is Cost Centre ?

|

'(b) What do you mean by Economic order Quantity ?
1

l‘(c) What is meant by Labour Turnover ?

|
i(d) What do you understand by Process Costing?

|
5. Answer any three questions : : 3x8

| _
. (a) Discuss the essentials of a Good Cost Accounting
System.
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(b} The following are the details supplied by XY
Corporation in respect of its raw materials for the
month of December, 2017 :

Date Units Price Per unit
01-12-17 Opening 2000 Rs. 5.00
7-12-17 Received - 1000 Rs. 6.00
10-12-17 Issued 2500 ?
15-12- 17 Received 2000 "Rs. 6.50
31-12-17 Issued 2200 ?

On 31.12.2017 a shortage of 100 units was found.
Find the values of issues and resulting stocks using
FIFOC Method.

{c) Distingnish between Time Keeping and Time Booking.
What are the main causes of Idle time ? 4+4

{d) A worker takes 80 hours to do a work for which the
time allowed is 100 hours. His daily rate is Rs. 2.50
per hour. Calculate the works Cost of the work under
the following methods of payments of wages :

i) Halsey Plan and

iij Rowan Plan
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' | Additional Information :
i) Material Cost Rs. 120;
il) Factory overhead 125% of wages.

'(¢e) What do you mean by overhead? Distinguish between
I under absorption and over absorption of overhead.
. What is joint product?

(i i) What is semi-variable cost ? Give two examples.

| ii) Distinguish between allocation and apportionment

; of overhead. 4+4

6. Answer any one qﬁestion of the following : 1x15

(a) What are the advantages of time Rate Wage
Method ? Distinguish between Contract Costing and

' Job Costing. 7+8

" (b) A company has three production departments X, Y
and Z and one service department S. The actual

‘costs in 2016 are as follows :

‘ Depreciation Rs. 7,000; Rent, Rates and Taxes
Rs. 4,500; Electricity Rs. 6,000; Sundries Rs. 1,300;
. Canteen Expenses Rs. 5,500; Insurance on Assets

Rs. 1,400; Power Rs. 1,200.
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X Y Z S

Value of Assets 25,000 20,000 15,000 10,000

Floor Space 300 250 200 150
(Square meters)

Light Points (No.) 10 8 8 4

H.P. of Machines 5 4 3 -

No. of Employees 40 30 20 10
Direct wages (Rs.) 3,000 2,000 1,000 500

Cost of the service department is apportioned to
production departments in the ratio of 3 : 2 : 1.

From the above particulars, determine the overhead
cost of Production departments.

~ [Internal Assessment — 10 Marks ]
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(d) The following are the details supplied by XY
| Corporation in respect of its raw materials for the
month of December, 2017 :

\ Date Units Pﬁce Per unit

: 01-12-17 Opening | 2000 Rs. 5.00
7-12-17  Received 1000 Rs. 6,00
10-12-17 Issued 2500 ?
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15-12-17 Received 2000 Rs. 6.50
31-12-17 Issued 2200 ?

On 31.12.2017 a shortage of 100 units was found.
Find the values of issues and resulting stocks using
FIFO Method.

() 9 fo1¥9 (Time Keeping) @3 M99 @H9 (Time
Booking) &3 W0 =147 (101 | ST 177 IR Frglof
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() A worker takes 80 hours to do a work for which
the time allowed is 100 hours. His daily rate is Rs.
2.50 per hour. Calculate the works Cost of the
work under the following methods of payments of

wages :
i) Halsey Plan and

i) Rowan Plan
Additional Information :

i) Material Cost Rs. 120;

11} Factory overhead 125% of wages.
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(¥) A company has three production departments X, Y
and Z and one service department S. The actual

' ~ costs in 2016 are as follows :

! Depreciation Rs. 7,000; Rent, Rates and Taxes

| Rs. 4,500; Electricity Rs. 6,000; Sundries Rs. 1,300;

- Canteen Expenses Rs. 5,500; Insurance on Assets
Rs. 1,400; Power Rs. 1,200.
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X Y z s
Value of Assets 25,000 20,000 15,000 10,000

Floor Space 300 250 200 150
(Square meters} - :

Light Points (No) 10 8 8 4
H.P. of Machines 5 4 3 -
No. of Employees 40 30 20 10
Direct wages (Rs.) 3,000 2,000 1,000 500

Cost of the service department is apportioned to
~ production departments in the ratio of 3 : 2 : 1.

From the above particulars, determine the overhead
cost of Production departments,

[SETFIY JogAT — S0 ]
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